WM

XQ(D) & %l B i 2 5| # 3h L

XQ (D)Series DC Traction Motors

L

Ii 2E0.55~13 kW

T1EHI s2

B [E 22-75V
HGEFRF

EAT: AERMEBES|ITENIRSFGE R BEER
RIIRE), BEAT 05~3 X FAE. 2-5 MiREZENRE.
¥ ARMERELE, EEEESIE.

FaRBERENX Designations of the type
X Q -22 - 4@ X Q@ D-7.5-2
t S u it
Wit g WUE Th &
BUEDR i BN
75| B 75| AL
& HLh 45 A & L 40 H
HzE g AL LA B L
14 5E ##E Performance Data B AT Bl CRED
& BUE | WUE | #E BE i
o B o5 D | W | MR LU AR gifgia DhRgsd H
? ) | v | @ | Gmin (ko)
1 | XQ-0.55-1 | 055 | 22 38 2100 S230min | 11 | FbaCH% 0.5-1T 173
2 | XQ-075 | 075 | 22 50 2400 S230min | 11 | EbaRH% 0.5-1T 173
3 | XQ-0.75-1 | 0.75 | 22 50 2400 S230min | 13 | KOS B 0.5-1T 173
4 XQ-1.2 1.2 24 67 1900 S260min | 29 | UL 1-1.2T HEBEHLAT E
5 XQ-1.5 15 34 62 1900 S260min | 38 | feh i etz 42
6 | XQ-22-1 | 22 22 | 135 1600 S260min | 44 | fek 1-1.2T 177&
7 | XQ-2.2-2 2.2 45 65 2400 S260min | 43 | feBEH 4 0.5T HEHHATE
8 | XQ-22-4 | 22 45 64 1900 S260min | 40 | {efg 1.25T 177&
9 XQ-3-1 3 45 87 1780 S260min | 48 | {rh 1.25T-1.75T =32 s5477E
10 | XQ-3-2 3 22 | 190 1500 S260min | 70 | feBEH 4 1-1.35T = miATiE
11| XQ-3-3 3 40 97 1500 S260min | 75 ;ﬁ% AEL 2T &5 %

13905634561 18656396766
0563-5021260

www . ahwnm.com
ahwnm@qq . com




WM

M REEIE Performance Data

LS| AL CHR D

e wor | Bue | e | BE B
Ll B S | TR | R | B | R T A g5tk TheiEH
N ®W) | V) | A | Gmin (ko)
12 | XQ-3-3D 3 45 90 1800 S260min | 75 ;ﬁ% e 2~3T &5l #iz%:
13 | XQ-3-3H 3 45 90 1800 S260min | 75 g% XL H 2~3T 75| PRIz iR G4
14 | ZC3-48A 3 48 72 2800 S260min | 38 |19 ikAN{EEE JE TR LG A
15 XQ-4 4 45 | 110 1700 S260min | 85 | fei i 1-1.35T 477&
16 | XQ-4-1 4 45 | 110 1700 S260min | 90 | FUEEFHEHA | 1-1.35T 17
17 | XQ-45 45 45 | 125 1350 S260min | 89 | FEEEHENRH | 1.2T 173
18 | XQ-45-1 | 45 | 45 | 125 1800 S2 60min | 89 i;% e 3~5T A5, a4
19 | XQ-45H | 45 | 45 | 125 1800 S2 60min | 89 * R iﬁ iﬁ 3~5T 5|, Wi
20 XQ-5 5 45 | 139 1480 S260min | 95 | frf 1.5-1.75T 473&
21 | XQ-5-1 5 45 | 139 1480 S260min | 95 1?% R 4~7T Wiz 51 %
22 XQ-5F 5.4 48 | 140 1680 S260min | 95 ;; R 7 88 1.5T uh AT # A X 425
23 | XQ-5H 54 | 48 | 140 1680 S2 60min | 95 ;é A AL ;6 2T AR A A
24 |  XQ-6.3 6.3 45 | 173 1200 S260min | 112 | fef il 2-2.5T 173
25 | XQ-6.3-1 6.3 45 | 173 1200 S260min | 112 | B0 il 7~10T #iz. 5%
26 XQ-8 8 45 | 222 1300 S260min | 120 | fef i F 2-2.5T 173
27 | XQ-10-1 10 75 | 165 1200 S260min | 135 | fef il 2.5-3T 173
M EEHIE Performance Data HRAET B (D
e BUE | BUE | BUE | bEL | AUE o
5 M5 Thag | ik | B | R | FdE T A gir I TyReiEH
N v | V) | A | @) | amin (ko)
1 | XQ-055T | 055 | 22 37 4 2100 | S230min | 11 | EpsCH%H 0.5-1T 173
2 | XQ-0.75T | 0.75 | 22 50 6 2400 | S230min | 11 | EhaUHAH 0.5-1T 177
3 | XQ-0.75-1T | 0.75 | 22 50 6 2400 | S230min | 13 | EFxXXUHHE | 0.5-1T 477
4 XQ-1.2T 1.2 24 67 8 1900 | S260min | 29 | SraURUHEL | 1-1.2T HESHUTE
5 XQ-1.5T 15 | 34 62 8.7 1900 | S260min | 38 | fEd i ez
6 | XQ-22-1T | 2.2 22 | 135 9 1600 | S260min | 44 | fuidHh 1-1.2T 177&
7 | XQ-22-2T | 22 | 45 65 75 2400 | S260min | 43 | fuikHh 0.5T HEHHATE

13905634561 18656396766
0563-5021260

www . ahwnm .. com
ahwnm@qq . com




WM

e BUE | BUE | BUE | L | BUE e \
M5 T | WE | RIA | IR | B LA g5tk TheeiE

5 kW) | (V) | (A | A) | (r/mind (ko)

8 | XQ-2.2-4T | 22 45 64 8.5 1900 | S260min | 40 | fEEEH 1.25T 177&

9 XQ-3-1T 3 45 87 10.5 1780 | S260min | 48 | fEEEH % 1%25'1'7“ =Xt

10 XQ-4T 4 45 | 110 11 1700 | S260min | 70 | fEEEH 1-1. 5T =32 AT

11 XQ-5T 5 45 | 135 20 1480 | S260min | 95 | fEEEHH 1. 5T 173

12 | XQ-5.2T 5.2 45 | 139 20 1480 | S260min | 95 |18 ti4hfesE | 1.5T 177

13 | XQ-6.3T 6.3 45 | 172 11 1400 | S260min | 112 | & H H 2-2.5T 173&

14 | XQ-6.3A 65 | 45 | 173 | 115 | 1200 | S260min | 112 | 18 Hishfeke | 2-2.5T 174k

15 |  XQ-7A3 7 45 | 180 | 115 1400 | S260min | 120 | 18 Yi4hesE | 2-2.5T 113

16 | XQ-8A3 8 45 | 220 11 1550 | S260min | 120 | fedH 4 25T 177k

17 XQ-8T 8 45 | 222 25 1200 | S260min | 120 | f&E H % 2-2.5T 177&

18 XQ-10T 10 75 | 150 16 1450 | S260min | 135 | fEEH Hh 2.5-3T 177&

19 | XQ-10.2A-T | 102 | 75 | 1625 | 16 1500 | S260min | 135 | 18 Yi4hesE | 2.5-3T 113

M EE#HE Performance Data BB R B
B | BiE | i | BiE

Flom o | ||| s | | e | TR Gkt S
5 w | o | @ | wmin | 7 (ko)
1 | XQD-0.75-2 0.75 45 25 1650 =1 S2 15min 12| BRI, MR 40 | 1-1. 5T %4 A)
2 | XQD-0.8 08 45 25 1500 i | S260min | 24 | EFRAEERM, M CHE | 1. 5-2.5T
3 | XQD-0.8-5 095 | 22 | 65 2200 i | S260min | 24 | ENSUHPRHD, MO | 1. 5-2.5T A
4 | XQD-1.35 1.35 75 | 251 1500 S| S230min | 24 | EMUHEREL, MmO | 3T Fm
5 | XQD-1.35-2 1.35 45 42 1500 SH | S230min 24 | ERaCH ML, U0 15 T;L% kR
6 | XQD-3 3 24 175 1700 £ S2 5 min 24 SN BERE ;61- AR
7 | XQD-6.3 63 | 45 | 173 2000 K| S215min | 72 | ERSUHRH, MRATER | 15T $27h
8 | XQD-75 75 45 205 2000 =17 S2 15 min 80 | EMUHIRH, JEFEANTEEE | 2T $2Ht
9 | XQD-7.5-2S 75 45 | 210 1550 Hih | S215min | 80 | EhaUAFIEHD, 10 tiNqEsE | 1. 5T =T+
10 | XQD-7.5-2 75 45 | 210 1550 HiJ | S215min | 80 | BN, 10 tikitk ST ﬁ:ﬁzs‘z,ﬁ%ﬁé
11 | XQD-75-28W | 7.5 | 45 | 210 1550 B | S215min | 80 | ENAGIRM, AEALER | 15T 2Tt
12 | XQD-7.5-3S 75 45 210 1550 | S215min | 80 | EhEHECHN, 10 ipuqesE | 1. 5T 27+
13 | XQD-8.2 8.2 45 | 240 1600 #ih | S25min 45 | ERRTCECH, 10 S AEsE | 1. 5T $27F

13905634561 18656396766
0563-5021260

www . ahwnm.com
ahwnm@qq . com



WM

WE | BUE | BUE | BT X -
FF - i . . Jilit: i , R
. LU S i | R | B | B ik T AR (ko) A Abi YiaeiE A
R e
N @ | v | @A) | Gmin J
14 | XQD-8.2-1 8.2 45 | 240 1600 | S25min 45 | EFRABIER, MM | 15T 27+
15 | XQD-8.6 8.6 45 | 248 1600 | S25min 45 | BFRICIERM, 10 thAqERE | 2-2.5 T #2£7F
16 | XQD-8.6-3D 8.6 45 | 248 1600 #E | S25min 45 90° JEKMI, MEAEE | 2-25 T 27+
17 | XQD-8.6-2S 8.6 45 | 235 1550 # | S25min 80 | EhRHEM, MMAIER | 2T $27F
18 | XQD-8.6-35 8.6 45 235 1550 £ i S2 5 min 80 | EFIRANEM, 10 AERE | 2T $27F
. 1.6T Eif% 5
19 | XQD-8.6H-1S | 8.6 45 | 235 1550 & Jih S2 5 min 80 10 i N 6 EE 7 i 7 T iU
1.8T 2 =3 4%
20 | XQD-8.6FQ 8.6 45 235 1550 £R Jil S2 5min 80 | EFXATEH, 10 puqEsE 7t e "~
21 | XQD-10-5 10 45 | 278 2000 S | S215min | 83 | ENRATEM, M ATER | 25T $27F
22 | XQD-10-2S 10 45 275 2000 B | S215min | 83 | EhaRABEEM, 10 thAfERE | 2.5 T $27}
2-2.5T XM= M4k
23 | XQD-10-2J 10 45 275 2000 £ i S2 15 min 83 | EPsUATJIHH, 10 iy fesE X;; "~
24 | XQD-10-3D 10 75 160 2000 B | S215min | 83 | EFRHEM, FMRATER | 25T $E7}
25 | XQD-12 12 75 193 2000 i | S215min | 85 | BN, sERAER | 3T HRFt
26 | XQD-13-2S 13 75 210 1500 B | S215min | 85 | EFRHEEM, 10 thqEsE | 3T $EFt+
27 | XQD-13-C 13 75 | 210 1500 B | S215min | 85 | ENRAFEM, MRAER | 3T $2Ft
SN R ZREERT Dimensions mm
1~3.5T X EFm HL
T |
| 2
T8O M)
— [
¢ B A
! L AB
Rl i 7 B Rt A AN
T N Mounting Dimension Overall Dimension
e
p A B C F H N P S K AB AC HD L
XQD-0.75 115 100 50 8 63 100 80 M8 »10 135 120 150 231
XQD-0.8 155 100 30 8 82 100 80 M8 ®10 175 160 201 235
XQD-1.35 155 100 30 8 82 100 80 M8 ®10 175 160 201 270

13905634561 18656396766

0563-5021260

www . ahwnm.com
ahwnm@qq . com



WM

1~1.5T X EHIRAEEEA 5] L

©
</
— 0000 || B
— 0000
P = 0000 ||g
.1 I. s OO/OﬁO
— f — Il m p—
= = I Q w _
¢ — s 0000 |
o2 0000 ||f
i 0000
0000 ||H
B (T L
Rl i 7 R R b RS
T j Mounting Dimension Overall Dimension
yP T E D F G M N S H AC L

XQ-5C 10 60 28 6 23 120 | 215 ®13.5 170 240 402
XQ-5-T 10 60 28 6 23 120 | 215 ®13.5 170 240 402
XQ-5-3A1 10 60 28 6 23 120 | 215 ®13.5 170 240 402
6

6

XQ-5-4A4 10 60 28 23 120 | 215 M12 170 240 402
XQ-6.3-5 10 60 28 23 120 | 215 $13.5 185 270 425.5

2~2.5T X HH I st 75 Al

)
\9)
00 E
e | 8838 ||l]
el
— | i §§ /) =
6 == =rss =
D 38 7
8358 ||
T1
ET[T L
R % R b ROAF
T N Mounting Dimension Overall Dimension
e
w T1 T E D F G M P N S H AC L
XQ-6.3-2 6 14 | 56 | 32 6 26 | 170 | 90 | 250 | M12 185 270 399.5
XQ-6.3-T 6 14 | 56 | 32 6 26 | 170 | 90 | 250 | M12 185 270 397
XQ-8-1T 8 14 | 58 | 32 6 26 | 170 | 90 | 250 | M12 185 270 3935
XQ-8T 8 14 | 58 | 32 6 26 | 170 | 90 | 250 | M12 185 270 3935
13905634561 18656396766 www . ahwnm .. com

0563-5021260 ahwnm@qq . com



00 TTE
o235 ||d
0000
By 29 o
V7 —Tl |00 §/oo) | =
= 00 &/ =
D A 83 -
| O 9 (o) ©)] Q
[o}oRoNe
00 99009
99 8333 || 4
E T L
. % %% R 5% R
T Mounting Dimension Overall Dimension
e
yP T E D F G M N S H AC L
XQ-8 10 50 32 7 28 130 250 M16X1.5 185 | 270 397
XQ-7A3 10 50 32 7 28 130 250 M16X1.5 185 | 270 390
XQ-8A3 10 50 32 7 28 130 250 M16X1.5 185 | 270 390
1~3T XM IT A A sl
LY 8 €
o 10
&5 1631
Ehg O i
o : L SERAR D # 15, K75
] i i THEE 1. 13,119
ﬂ' (& ), S48
== hE D R
ﬂy i $1.103
it 1L
i 4+ o 5t )
SRS EFESEN R | S0 IGEMTE 1-83)
IREAERAN R | 130
EEEATRME Bl | LD
1|8 o TRk | G A R
N R ErhEel (NI
LT f, 103
L LY Fs LiLs
R 7 3 R A RO
T N Mounting Dimension Overall Dimension
e
w A B C T M P N H S K AB AC HD L
XQD-7.5-3S | 216 | 130 | 57 | 14 | 140 | 80 | 109 | 125 | M10 | @12 | 246 240 | 295 | 345
XQD-8.6-3S | 216 | 130 | 57 | 14 | 140 | 80 | 109 | 125 | M10 | ®12 | 246 240 | 295 | 345
XQD-10-3S | 216 | 110 | 93 | 10 | 140 | 80 | 109 | 125 | M10 | ®12 | 246 240 | 295 | 365
XQD-13-3S | 216 | 140 | 93 | 10 | 140 | 80 | 109 | 125 | M10 | ®12 | 246 240 | 295 | 395
13905634561 18656396766 www . ahwnm .. com

0563-5021260

ahwnm@qq . com




AREALSEEE
LB 1
24 07) e
Eadlal W
HEMAED HI5.878
FHAE D) 1340
k8 (i) B1T. 4655
$E ) §14.46540
Lis [ FALE]
RE 11.33¢
1 Léy
pESgeRbER N | 6 (IR 1500
LECA TR AL L3l
TEAMERAE () L5
LEEES | O (] H17. 463
AERELE ) e
ERLEU [
FaLdiFy (L
N % 3 R S 5% R~
] Mounting Dimension Overall Dimension
Type
B C T M P N S H AC L
XQD-8.2 100 75 15 135 82.55 115 M10X1.25 140 207 321
XQD-8.6 125 75 15 135 82.55 115 M10X1.25 140 207 335
@ FFRPERERE
B 4E ! 10
| — 0l g7 M 18/3
[—1 ERE I i
—_— SENAE D 150
—_— iKiE 0, #1140
FW ﬁ | == - WE . Ty
ﬂ —— == g D g1
= = i §i.1]
M L1 1L
o =] =] D C] D D iE A
oo 0 SEEERRSRE G0 | 6 (@M
0000 IEABERAS B[ 23016
o000 1 IREMTRAE B | 131 i
| 1) i LT AR
{ B | B
l ':IH AT
Rl i 7 He RO~ g T RO~
T N Mounting Dimension Overall Dimension
e
P A B C T M P H N S K AB | AC | HD L
M10x M10x
XQD-104D 216 | 110 93 10 140 | 8255 125 | 115 223 | 240 | 295 | 365
125 125
13905634561 18656396766 www . ahwnm.com

0563-5021260 ahwnm@qq . com



WM

1-3.5T X EH/ A e 22 Al

G\ I
\> L
! cooollB & o
0000
St . \
) / - " "
(72 o ; [ & %})/;M/ 'm‘r\-y ==
& . | S ]
000 C )
53800 g Rl 1/ A
00O g Ll
} I‘ l I ) O O O O E W ..... ﬁfi,--‘ \_W
B J A
L 2461
- 22 M OR S b ROSF
P . . . A
T Mounting Dimension Overall Dimension
e
P A B C T H M P D |F| G N S K AC |HD | L
XQD-6.3B 216 130 | 57 14 125 140 | 80 18 5115 109 M10 D12 240 | 312 | 345
XQD-7.5-2 | 216 130 | 57 14 125 140 | 80 18 51|15 109 M10 D12 240 | 312 | 345
XQD-7.5-C | 216 130 | 57 14 125 140 | 80 18 5115 109 M10 D12 240 | 312 | 345
XQD-8.6-C | 216 130 | 57 14 125 140 | 80 18 5115 109 M10 D12 240 | 312 | 345
XQD-10-C | 216 130 | 80 10 125 140 | 80 18 5 (15 109 M10 ®12 | 240 | 312 | 363
XQD-12 216 140 | 93 10 125 140 | 80 18 5 (15 109 M10 ®12 | 240 | 312 | 395
XQD-13-C | 216 140 | 93 10 125 140 | 80 18 5 (15 109 M10 M12 | 240 | 312 | 395
XQD-13-2C | 216 140 | 93 10 125 140 | 80 18 5 (15 109 M10 ®12 | 240 | 312 | 395
XQD-8.2-1 | 216 130 | 57 15 125 136 | 80 18 51|15 109 M10 D12 207 | 260 | 321
XQD-8.6-1 | 216 130 | 57 15 125 136 | 80 18 51|15 109 M10 D12 207 | 260 | 335
1~3.5T X Wi LAt 2=5] il
L5 41 LW g xase
7‘/% — FrRERRSGEY
10.5] — it (E%4)
- o | ] ==l 1.5 (nn) §— 55
¥, —
g @27 (m)
.8
= = D= i
_ 107 3 (m)
] 620 35 ()
2 s D2, 700 (pm )
E M ;;'-ﬂ
E ! L RS (-3 -
W B 7 3 R N
T Mounting Dimension Overall Dimension
e
w T E M P N S H AC L
XQ-5.2T 8 60 200 95 170 M14X1.5 170 240 412
XQ-6.3A 8 60 230 95 170 M14X1.5 185 270 402
XQ-10.2A-T 5 55 210 95 170 M14X1.5 220 300 390

13905634561 18656396766

0563-5021260

www . ahwnm.com
ahwnm@qq . com



WM

1~3T XAEHAE s 2 F L

O

/4

;
 ——
&

c

| —
[ —
e—

[0]@)

i

Rl 7 B R A RO
T j Mounting Dimension Overall Dimension
yP B C T M P N D F | G S K AC L
XQD-8.6-3D 140 | 93 | 15| 136 | 80 | 109 | 18 | 5 | 15 M10 ®20 207 335
XQD-8.2-3D 140 | 93 | 15| 136 | 80 | 109 | 18 | 5 | 15 M10 ®20 207 321
XQD-10-3D 140 | 93 | 10 | 140 | 80 | 109 | 18 | 5 | 15 M10 ®20 240 362.5
3~3.5T XA ILAL AT E ML
YR 2
= . = = N
e +fér /f DR
= ‘ l __-_l—~ v = 1
: % L/ %
GO
48
T TS

] % % Rt 5T R L
LEE] Mounting Dimension Overall Dimension
Type

T E D F G M N S H AC L
XQ-10A 10 60 32 7 28 130 | 283 6-M16X1.5 220 | 300 | 400
XQ-10-1C 10 50 32 7 28 130 | 250 10-M16X1.5 220 | 300 | 400
XQ-10T 10 50 32 7 28 130 | 283 6-M16X1.5 220 | 300 | 400

13905634561 18656396766
0563-5021260

www . ahwnm.com
ahwnm@qq . com




WM

2~10T X AHALHE A5 fapl

)\ (00
fole
00
00

QN o= S
QO Jebs T
0000 - Lz
0000
0000
0000
T E
L
Rl 7 R s % RO~
T j Mounting Dimension Overall Dimension
yP M D F G T E N S L AC
XQ-1.5-HT 100 20 4 16 145 | 395 | 170 M8 340 190
XQ-2.2-4 100 20 4 16 145 | 395 | 170 M8 350.5 190
XQ-3-1 100 20 4 16 145 | 395 | 170 M8 394.5 190
2~60T 725 LBl (BUIE-FACE) Alsmies, JoimeEim
Ei\
2
o | /;\
SARIRED [P
838888 14
QOO
QOO OO
QCQOOOO
bl SRIES
El
L
. % % R F 5b %
] Mounting Dimension Overall Dimension
Type
w T1 | T2 | E1 | E2 N D | F| G| M P N S H AC L
XQ-3-HT 6 | 75|53 | 72| 194 |28 (6|23 |68 |80 | 194 | M10 | 170 | 242 | 460
XQ-45-HT | 6 | 75|53 | 72| 194 | 28 |6 | 23 | 68 | 80 | 194 | M10 | 170 | 242 | 484

13905634561 18656396766
0563-5021260

www . ahwnm.com
ahwnm@qq . com



©
' 0000
0000
[0/0)
&
° o 000
0000
0000
0000
L
- % % R G % R
i Mounting Dimension Overall Dimension
Type
w T1 | T2 | E1 | E2 N M P D F G S H AC L
XQ-5-HT 10 | 45 | 54 72 | 215 120 | 80 | 28 6 23 | ®13.5 | 170 | 240 | 402.5

3 3 A

=]

% & RF S RF

pI= . . . . .
=7 Mounting Dimension Overall Dimension

Type
T1 | T2 E1l E2 F1 F2 N M P S H AC L

XQ-3-3D 6 | 75| 685 | 475 315 | 305 180 | 62 | 81 | M10 | 170 | 242 | 500

XQ-4.5-1 6 | 75| 68 47 315 | 315 180 | 62 | 81 | M10 | 170 | 242 | 518

13905634561 18656396766 www . ahwnm . com
0563-5021260 ahwnm@qq . com



000000
Q00000
Q00000
000000
000000

<!l @

=1

a = 00000

00000

Q0000

00000

00000

00000

L
. % % L G T R

Tvoe Mounting Dimension Overall Dimension
yP T |E1|E2| D F | G M N S H AC L
XQ-10-1-HT | 10 | 50 | 72 | 32 | 7 | 28 | 130 250 | M16x1.5 | 220 300 400

13905634561 18656396766

0563-5021260

www . ahwnm.com
ahwnm@qq . com



